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Section A

Answer this question.

Less Competition in the Scottish Public Transport Market?

The consequences of the....

An extract has been removed due to third party copyright restrictions
Details:

An extract from the Competition Commission about the privatisation
of the Scottish Rail services
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Source: adapted from a news release by ~ The Competition Commission in June 2004
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(a) Describe what is meant by contestability in a market. 2]

(b) ‘The Competition Commission did not expect that this reduction in competition would be
offset by the entry of new companies or by the expansion of services provided by other
existing bus operators’ (lines 11-13).

State and explain two possible reasons why other bus companies may not enter the market.

[4]

(c) Economic theory indicates that greater competition is in the best interests of consumers.
(i) Use a diagram to explain why this is the case. (4]
(ii) Comment on the likely effects of the transfer of the rail franchise to FirstGroup on
economic efficiency in the public transport market in Scotland. (4]
(d) Discuss the likely benefits to the local community of an integrated bus and rail service. [6]
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Section B

Answer one question.

2 One of the problems of achieving a more sustainable transport policy is dealing with peaked
demand.

(a)

(b)

Explain the consequences for passenger transport providers of the peaked demand which
they inevitably face. [10]

Discuss how government policy can manage passenger transport in more sustainable ways.
[15]

3 Even though more and more passengers are flying each year to more and more destinations,
much controversy still surrounds the provision of additional airport capacity.

(a)
(b)

(b)

Explain the economic benefits of constructing new airports and runways. [10]
Discuss the extent to which forecasts of demand for air travel should be used as the basis for
decisions on airport capacity in the UK. [15]
Using a diagram, explain how taxation can be used to make the operators of goods vehicles

pay the full social costs of using their vehicles. [10]

Discuss the likely economic effects of increased road haulage operating costs on the freight
transport industry, its customers and the economy as a whole. [15]
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